terval Use a graphmg utlllty to verlfy your graph

" Inierval L
: _-sm_x_—-ﬁsinSx 05x$2qr
cos x — 5005 2 0% xS 2w
oL SpeEig
~2) + cotx O<x<'n'.'-
I :
% (osc x + secx) i N %T
”_x) - uan(ifsf)— 1 laesds
_ ;3_ﬂ_<'x_<3_# :
o _2 ®: 2 o

:—'2#<x<"27r L

un tmn. Identlfy any relatwe extrema, pomts of
d asymptotes .

cises 51 and 52, the graphs of f; f', and f”are shown.
same set of coordinate axes. Which is which? To
n enlarged copy of the graph go to the webs:te
athgmphs.com. ‘

6, sketch a graph of the functlou over the mdl-

w1 Sy
S

Woane " 50. —
Wi f(x) x2+1
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57. Suppose £ <0 for all 1 in the mterval (2 8 Expla/

why f(3) > f(5). f

'58. Suppose f(O) = 3 and?2 < f (x) s 4f0r allxmll:hemterval '
1~5, 5] Determ.me the greatest and least p0331b1e values of

f (2)

In Exercises 59 and 60 use a graphmg O 8 h
funetion. Use the graph to determine whether it i possﬂ)le for -
the‘graph of a function to cross its horizontal asymptote. Do you
- -think it is.pessible for the graph of a flmctlon to cross 1ts vertlcai o

asymptote" Why or why not" B oA RPL I

A= 12 L "-3.4;:__-5-.,__3'
_59 f()_xz(lexlS 60 g() eI x4+x1

Wrmng In Exercns" 61 and 62 use a graphing utility
.the functmn. Explam why there is no vertlc asymptote when a
‘superficial exammatlon ‘of the flmctmn may mdlcate that there,
should be.one. . L : S :
6 = oo e e

'6_1.' h(x)e

N _x_2~—3x_ N e T
_63- f(x)— : x—'2' 64. g(x) s

E@ 65 Gmphwal Reasonmg Consnier the; functmn '

cos2m :
N 0< <4
Jx2+1 *

: (a) Use a computer algebra system to graph the funct;on and
use. the graph to V1sually apprommate the crltleal numbers

(b) Use a con pu : algebra system to find f’ and approxunate
' the Critical numbers. Are the results the same as the v1sua1
approxunatlon in part (a)’? Explam : ‘

| _}( j -




